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Diagram NOT
accurately drawn

A, B and C are points on the circumference of a circle, centre O.
AC 1s a diameter of the circle.

(a) (i) Write down the size of angle ABC.

i o

(i) Give a reason for your answer.
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Diagram NOT
accurately drawn

B3, E and F are points on the circumterence of a circle, centre .
Angle DOF = 1307,

{b) (i) Work out the sizc of angle DEF.

Wk DEF = 4 (1%0°) = ¢s5°

(iiy Give a reason for your answer.

Inserhed angle 15 /2 1 frophed
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Diagram NOT
A accurately drawn

B

&

B, D and E are points on a circle centre 0.
ABC 1s a tangent to the circle.

BE is a diameter of the circle.

Angle DBE = 35°.

(a) Find the size of angle ABD.
Give a reason for your answer,

Lapp = G0°— 25= 557

LAGE 15 q0° l2e ¢ onte o\-)(afvtkjbuj'
e f/md a f’\/ji\/f‘ a«a\,jf»c v AL
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(b) Find the size of angle DEB.
Give a reason for your answer.

3]

LDF@:G)O - 35°

|

55~
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h B Diagram NOT

/ \ accurately drawn

The diagram shows a circle centre O
A, B and C are points on the circumference.

DCO is a straight line.
DA 15 a tangent to the circle.

Angle ADQO = 36°

(a) Work out the size o' angle AOD.

w1 LAOD = 9o°~ 36

[l
o

2}
(by (i) Work out the size of angle ABC.

mhiasc= L (24°) = 27°

(i) Give a reason for your answer.

mLABC = Vo F AC 2

Lots more free papers and model answers at www.bland.in (Total 5 marks)




~
/ ~. < Diagram NOT

/ accurately drawn
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A, B and C are points on the circumference of a circle, centre O,
4C is a diameter of the circle.

{a) (1) Write down the size of angle ABC.

LAPCc = 90° G o

(ii) Give areason for your answer.

LBBC 1S INSert brgh owalc

Diagram NOT
accurately drawn

D, E and F are points on the circumierence of a circle, centre 0.
Angle DOF = 130°,

(b) {i)y Work out the size of ungle DEF.

LDEF = 65° 6T

Lots more free papers and mode] answers at wwy . bland.in (Total 4 marks)
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Diagram NO'T
accurately drawn

Ip the diagram, 4. B, C and 17 arc points on the circumference of a circle, centre G
Angle BAD =707,
Angle BOD = x°.
Angle BCD =1,

(a) (i) Work out the value of x.

B‘E?Lx

LOABR = Vo BCD o AAOT
= cwprg-)» u-;o)

(i1) Give areason fory our ANSWET.

\j 2)

(b) (i) Work out the value ol v.
Vs
Yy=4 pan
Ve,
DA’@ fag 3600—-’405 2:’,00 § [T //b ....................

(ii) Give a reason for your answer,

ane OB + 0?6 360

Pl 1A @) =
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Diagram NOT
accurately drawn

P, O and T are poinis on the circumference of a circle. centre O.
The line ATE is the tangent at T to the circle.

PO =TQ.
Angle ATP = 58°,

Calculate the size of angle OT0.
Give a reason for each stage in vour working.

LATP =S¥
PT =5¢°

L PAT=26°

/. PT&= 180 -Z6
o

LPTO=90 - 5%

R
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—
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Y

S L0TR = 77- 32" = 45°

(Total 5 marks)
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Diagram NOT
accurately drawn

A, B, C and D are points on the circumference of a circle.
Angle ABD = 54°,
Angle BAC = 28°.

(i) Find the size of angle ACD.
i .
AD = 2(s4) = 108°
LACD =Yy rp = (YT e

(i) Give a reason for your answer.

(Total 2 marks)
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